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1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Answer any seven out of ten. ca# izl sIOURL Uld-l sralet UL
Define Ideal fluid and Real fluid.

oAl 2L : 2 UALEL 2 AlAdls uaLdl,

Convert 1 kN/m? into N/mm?.

1 KN/m?® < N/mm?® 4 324l

Write an equation for centre of pressure for a plane vertically immersed in
water.

yLelui Gefl gotizdl AuIZl Hi2 elot S¢ HIz Yt Quil.

Define Hydraulic Gradient Line and Total Energy Line in pipe flow.
A0il nale HIZ ¢[A5 210 21 56 Alsd 1Al vl 2al.,

State Pascal’s law.

Ylzsdel (444 quil.

Write use of Pitot Tube.

(U212 2201 GuALIL v,

Classify types of notch based on its use.
AUAAL U512 dell GUALRLAL AHIZ 7 BLLAL
Write three properties of liquid.
UALELeAL 0L APHAL M.

Define Vena contracta.

dleit sizs21-l e sl

Write the Most economical condition for Rectangular channel section.
A2 525U25d Ao, 2118898 1AL A4a Hi2el 224l @vl,

Explain Surface tension of water.
YLl YBALRL AHMAl

OR
Explain Adhesion and cohesion.
VLR el SIS UHMAL,
Write a short note on U-tube manometer with a neat sketch.
4 — 2404 HeAlH]22 U2 29269 BHI5[A A18, 25 <Al dl.

OR
Convert pressure head of 18m of water to pressure head of mercury.
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18m uLeill £1o1gilia Wil sloigilini g2al.

Explain Total pressure and Centre of pressure.
56 £OLRL Ve 2104 Sgel UHMAL
OR
A Circular plate having diameter 2.50m is held vertical in water in such a

way that its centre of gravity is 3.25m below the free surface of water.
Calculate total pressure.

2.50m 41 41AdL dlous1z AUl wellul Ge{l Hsami sude 9. sllnsiz AUl
5¢ Uil auZledl 3.25m {2 9. 5@ e Al
Distinguish between V-notch and Rectangular notch. (4 points)
Aglad 2L dl-wi sid dodizy v, (4 U1H2)
OR
Compare pipe flow and open channel flow. (4 points)
UIHUAL WAL el WAL Al Uale Al azeumpll 521, (4 uis2)

Distinguish between laminar flow and turbulent flow. (3 points)
AHlA12 UALS DA 2304E 2 UALS 923, dslad QU (3 ULH2)

OR
Explain potential energy, pressure energy and kinetic energy.
YiZ[2ad G, U2 G vid s14[25 Gon dHmal,

Write the limitation of Bernoulli’s Equation.
oreliclldl ol waelzil quil.

OR
Write the assumption of Bernoulli’s Equation.
oreliclldl AL 52044 A1zeuL [Ag dwl,

Draw figure of Venturimeter showing various component of it.

A2l 221 @0l 418 2A15(d 213,

OR
Write a short note on “Reynold’s Number”.
&S 012 U 25 llH Al
Explain Nomogram with sketch.
AUMIAMH 2AL5(d U1 U1,

OR
State and explain continuity equation.
Al U520 @l 21 U1,

A pipeline having total length 3km comprising of 1km, 25cm diameter &
next 1km, 19cm diameter and remaining length of 15cm diameter. Calculate
the equivalent pipe diameter for the pipeline.

Bls YIHUALDA 3km @iotl 9. syHi usal 1km HL 25cm i, 6112w 1km HlL 19¢cm

Yy 2 ol1Sldl cotidHL 150m A1 69, UL ULHUALD A HIZ UHSH, 414 AL
OR
Write the Most economical condition for Trapezoidal channel section.

A2 525U25d UHAOL 19T UR1AA] A4d HIZ] 221 @vil.,

Derive formula for discharge over Rectangular notch.
Aol VAL U2 2AdL (4514 28Ald YA ARl
OR
For an orifice, prove that Cq4 = C¢ x Cy.
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2UAEA HI2 Cg = Ce x Cy Alo1d 521,

A 100mm diameter Orifice under a head of 6m discharge at the rate of 60
lit/s. A point on the jet measured from the vena contracta has co-ordinates X=
3m & Y= 0.5m. Calculate the coefficient, Cc Cv & Cq of orifice.

100mm <414l 241l [5uuiel 6meL via0 gildell wielldl uais
60lit/s <L A2l 4G £9. Al sie215212) 572 UL [Bigel AL X=3m i< Y= 0.5m
£9. dl 214005 C¢, Cy wiel Cqg <l (1A AL

Water is flowing through a pipe 800m long and 30cm diameter with a
velocity of 1.15m/s. Calculate head loss due to friction, if f =0.005.

800m alisfl, 30cm A<l wHualS4ui Wil ald 1.15m/s 9. adur 18 gld
< g4l f = 0.005 €.

Calculate discharge of flowing water through a rectangular channel 3.5m
wide and 1.5m deep, assuming bed slope of channel 1:900 and Chezy’s
constant C = 55.

w5 do1I2Y, 4Gl UEious 3.5m vid Gale 1.5m 9. Anigl w12 adl (451 WAl
AG2L 613 2alY, 1:900 24, AotlAl 2405 C = 55 dl.

Explain Hydraulic jump.

oyelX se51 (A2 AHMAL,

Explain specific energy curve with figure.

2UALls 4w 54 2us(d 212 AHmAl.
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